HONDA

ACCORD (CE, CD7,CD9) 03.1993 -12.1997
OEM Info F/R Type Type F/R Info OEM
53521-5M4-003 oz o) 6102 6102 oz )| 53521-5M4-003
53560-SM4-003 | with right-hand thread i o) 3179 3178 @@= | with right-hand thread 53540-SM4-003
53560-S1A-E01 |Thread Size: M10x1,25 i )| i )| Thread Size: M10x1,25 53540-S1A-EO1

Inner Thread: M14x1,5mm 3181 3180
. Inner Thread: M14x1,5mm
Cone Size: 14 mm
51220-584-A01 agia o)) 4084 4084 agia o)) 51220-584-A01
52400-SM4-033 | Control Arm R 73 ~o 2| Control Arm 52390-SM4-033
1324 1564
Sheet Steel Sheet Steel
=
6102 6102
3179 3178

e

| ACCORD IV (CB,CC1)

3181

4084

11.1989 -10.1993

3180

OEM

7
ACCORD IV

s

nv

S
< cammmn 4

unv

1989 - 10.1993

OEM

53560-SM4-003 | with right-hand thread aim o) 3179 3178 with right-handthread 53540-SM4-003
51220-584-A01 agia Vo)) 4084 4084 el o)) 51220-584-A01
52400-SM4-033 | Control Arm R 73 ~o 3| Control Arm 52390-SM4-033
1324 1564
Sheet Steel Sheet Steel

=

3179

ACCORD IX (CU)

ﬂ 3178
&

'y
S

4084

“Q ®

1324

—

1564




OEM

ACCORD IX (CU)

Info

53610-TL1-GO1

HONDA

Info

OEM

51325-TA0-A01

53610-TL1-GO1

5168

ACCORD VI (CE, CF)

51320-TAO-A01

02.1996 - 10.1998

6103

5169

OEM Info Type F/R Info OEM
53560-SM4-003 | with right-hand thread with right-hand thread 53540-SM4-003
51220-S84-A01 51220-584-A01
52400-SM4-033|Control Arm Control Arm 52390-SM4-033

Sheet Steel Sheet Steel

=G,

3179 3178

&
@

4084 é é 4084
2

1320 Ty 6 1564

ACCORD VII (CG, CK,CH) 03.1997 - 03.2015
OEM Info F/R Type Type F/R Info OEM

53010-S84-A01

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M14x1,5mm
Length: 110 mm

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M14x1,5mm
Length: 110 mm

53010-S84-A01

Suspension Rod

51320-S84-A01

51321-584-A01 |Suspension Rod aml )|
53560-S1A-E01 |Thread Size: M10x1,25 )|
Inner Thread: M14x1,5mm
Cone Size: 14 mm
51220-584-A01 =l
51365-S1A-E00 Em )
51460-S1A-E01 =l )|
52325-584-A01 |Suspension Rod =
52400-SM4-033 | Control Arm =
Sheet Steel

S Thread Size: M10x1,25 53540-51A-801
Inner Thread: M14x1,5mm

=l )| 51220-584-A01

Em o) 51355-S1A-EQ0

=l )| 51450-S1A-E01

& @[ suspension Rod 52320-584-A01

& 3| Control Arm 52390-SM4-033
Sheet Steel

6104



HONDA

‘ ACCORD VII (CG, CK,CH)

03.1997 - 03.2015

5463 5464
3181 3180
() )
a03s & é 4084
&) :

1325 W 1565

1566 1328
7o

5172 5173
| ACCORD VIII (CL_,CM_) -3,2015

1324 - - @ 1564

ACCORD VIII (CL_,CM_) -3,2015
OEM Info F/R Type Type F/R Info OEM
53610-TL1-GO1 P 6103 6103 @zl o| 53610-TL1-GO1
51321-SDA-A04 el o) 5174 5175 el o) 51320-SDA-A04
53560-SDA-A01 |Outer Thread: M10x1,25 mm i | 2183 2182 @@= .| Outer Thread: M10x1,25mm 53540-SDA-A01
Inner Thread: M14x1,5mm Inner Thread: M14x1,5mm

51460-SDA-A01 =l )| 1329 1330 e | 51450-SDA-A01
51360-SDA-A01 =l )| 1331 1332 e | 51350-SDA-A01
52325-584-A01 | Suspension Rod I = 5172 5173 & 3| suspension Rod 52320-584-A01

) Lo

5174

3183

6103

5175

3182




HONDA

| ACCORD VIl (CL_,CM_) -3,2015
1329 ‘ 1330
o0
1331 S 1332
I )
5172 h (2*42 ? ‘ 5173
CITY Saloon (GM) -8,2015
OEM Info F/R Type Type F/R Info OEM
53010-TF0-003 el o)) 6105 6105 e Vo)) 53010-TF0-003
 e——— ———
6105 “oap O Toatp (@ X 6105
CIVIC Il (EE) 01.1988 - 02.1995
OEM Info F/R Type Type F/R Info OEM
53521-SH3-003 i) 6106 6106 aim o) 53521-SH3-003
53560-504-003 | with right-hand thread i b 3185 3184 @@ | with right-handthread 53540-S04-003
agm=
6106 o . I . . I 6106
a (& (4 Qe
3185 i# Mﬁ 3184
L t J <
CIVIC IV (EC, ED, EE, EG) 09.1987 - 10.1993
OEM Info F/R Type Type F/R Info OEM
53010-SR3-010 |Length: 190 mm ezl 6107 6107 @@= | Length: 190 mm 53010-SR3-010
53521-SH3-003 iz o) 6106 6106 im0 53521-SH3-003
53560-504-003 |with right-handthread i) 3185 3184 @@l | with right-handthread 53540-504-003
51220-504-003 P 4085 4085 o=l o] 51220-504-003
52400-SR3-000 | Control Arm R 73 1334 1333 “& 3| Control Arm 52390-SR3-000
Sheet Steel Sheet Steel
ﬂ@;
6107 AP atgm——AGP= 6107
6106 o . I o . I 6106




HONDA

| CIVICIV (EC, ED, EE, EG)

3185 é.y'

09.1987 - 10.1993

-\gﬁ 3184
@\ )&"’e
4085 ‘ . 4085
2 2
I ) y
1334 M 1333

CIVICV (EG, EH, EJ)

08.1993 - 03.1996

OEM Info F/R Type Type F/R Info OEM
53010-SR3-010 | Length: 190 mm aim o) 6107 6107 @i .| Length: 190 mm 53010-SR3-010
51320-504-003 e o)) 5465 5465 el o)) 51320-504-003
53560-504-003 |with right-hand thread iz o) 3185 3184 @@L8 .| with right-hand thread 53540-504-003
51220-504-003 e o)) 4085 4085 el o)) 51220-504-003
52321-504-003 R 7 5178 5177 R 7 52320-504-003
52400-SR3-000 | Control Arm R 73 ~o 3| Control Arm 52390-SR3-000

1334 1333
Sheet Steel Sheet Steel
@@;
6107 g™ a—— 6107
\ |
5465 5465
3185 é.y- -\E—g 3184
<
4085 . 4085
2 2
R /)
5178 5177
1334 M 1333




HONDA

CIVIC VI (EJ, EK, EM1, MA, MB, MC) 04.1998 - 01.2015
OEM Info F/R Type Type F/R Info OEM
53521-SH3-003 el o)) 6106 6106 aia o) 53521-SH3-003
53010-SR3-010 | Length: 190 mm aim o) 6107 6107 @i .| Length: 190 mm 53010-SR3-010
51320-5T7-003 |Suspension Rod =l 5179 5179 @@= | suspension Rod 51320-5T7-003
51320-504-003 |Suspension Rod =l 5180 5180 @@= |suspension Rod 51320-504-003
51320-504-003 etz Vo) 5465 5465 aim o) 51320-504-003
53560-504-003 | with right-hand thread izl o) 3185 3184 @@in | with right-handthread 53540-504-003
51220-504-003 etz Vo) 4085 4085 aim o) 51220-504-003
51460-501-023 i o)) 1567 1335 i o)) 51450-501-023
52321-504-003 R 73 5178 5177 I 73 52320-504-003
52400-SR3-000 | Control Arm o o3& Control Arm 52390-SR3-000
1334 1333

Sheet Steel Sheet Steel
ﬁl@;
6106 6106
6107 6107
5179 5179
5180 5180
5465 5465
3185 \=ﬁ 3184
<&
4085 ‘ 4085
>

= —
1567 1335

L
5178 5177

oS (S

1334 M 1333




HONDA

CIVIC VII (EM2, EU, EP, EV, ES)

02.2001 - 05.2015

OEM Info F/R Type Type F/R Info OEM
51321-S5A-003 |Suspension Rod agim Vo) 5182 5181 @@Lz | Suspension Rod 51320-S5A-003
Outer Thread: M10x1,25mm Outer Thread: M10x1,25mm
53541-S5A-003 aim o)) 3186 3186 aim o)) 53541-S5A-003
51220-504-003 aimie) 4085 4085 aimie) 51220-504-003
52320-55A-013 | Outer Thread: M10x1,25mm = 5183 5184 & 3| Outer Thread: M10x1,25 mm 52321-S5A-013
Length: 72 mm Length: 72 mm
52400-SR3-000 | Control Arm R 73 ~o 2| Control Arm 52390-SR3-000
1334 1333
Sheet Steel Sheet Steel
‘!9;
5182 5181
3186 Q"- QJ— 3186
8% f 8% |
4085 . . 4085
2 2
5183 H 5184
1334 M 1333
CIVIC VIII (FA, FD, FN, FK) -5,2015
OEM Info F/R Type Type F/R Info OEM
51320-SMG-E01 e o)) 5185 5185 el o)) 51320-SMG-E01
4!@;
>185 o o0 >185
CONCERTO (HW, HWW) 08.1989 - 10.1996
OEM Info F/R Type Type F/R Info OEM
53540-SK3-E01 |withaccessories i) 3187 3187 @@L | withaccessories 53540-SK3-E01
=

3187

3187




HONDA

CR-V I (RD) 10.1995 - 02.2015
M Info F/R Type Type F/R Info OEM
51320-504-003 |Suspension Rod el o)) 5180 5180 @@= .| Suspension Rod 51320-504-003
51320-504-003 il o)| 5465 5465 il o)| 51320-504-003
53560-504-003 | with right-handthread aim o)) 3185 3184 @@L | with right-hand thread 53540-504-003
51220-504-003 aim o)) 4085 4085 aim o)) 51220-504-003
51460-510-020 aim o)) 1569 1568 aim o)) 51450-510-020

=

5180

5465

3185

4085

1569

CR-V II (RD_)

OEM

Info

Info

5180

5465

3184

4085

1568

12.2001 - 06.2015
OEM

51321-S5A-003

Suspension Rod

Suspension Rod

51320-S5A-003

5182 5181
Quter Thread: M10x1,25mm OQuter Thread: M10x1,25mm
53541-S5A-003 agin o) 3186 3186 agin Vo) 53541-S5A-003
51220-S9A-982 agia o) 4086 4086 el o) 51220-S9A-982
52321-S9A-003 B 5 5466 5187 B 52320-S9A-003

5182 5181

3186 3186

4086 4086
7

5466 5187

g




HONDA

CR-V Il (RE) -6,2015
OEM Info F/R Type Type F/R Info OEM
53010-SWA-A01 = Vs 6108 6108 aim o) 53010-SWA-A01
51320-STK-A01 etz Vo) 5188 5188 ezl o) 51320-STK-A01
53540-SWA-A01 = Vs 3188 3188 aim o) 53540-SWA-A01

ni!iilc» IllllIlIIIlllllllllllllllll=<||'l|
6108 e 9 6108
5188 5188
(=) (=)

3188 3188
CRX Il (ED, EE) 10.1987 - 02.1992
OEM Info F/R Type Type F/R Info OEM
53521-SH3-003 etz Vo) 6106 6106 etz Vo) 53521-SH3-003
53560-504-003 |with right-hand thread etz Vo) 3185 3184 @@= .| with right-hand thread 53540-504-003
51220-504-003 etz Vo) 4085 4085 etz Vo) 51220-504-003

- 4 —.h
6106 B O FEwn O 6106
.ggﬁﬁk\ ‘g!b %4
3185 &M \Eﬁ 3184
@ t J <
4085 ‘ 4085
-] -]

CRX Il (EH, EG) 03.1992 - 12.1998
OEM Info F/R Type Type F/R Info OEM
53010-SR3-010 |Length: 190 mm el o)) 6107 6107 @@L2 | Length: 190 mm 53010-SR3-010
53560-S04-003 | with right-hand thread Pt 3185 3184 @@in | with right-handthread 53540-S04-003
51220-504-003 o=l 4085 4085 =l o) 51220-504-003

= iR

6107 AP

3185 és&/"'

4085

@

N e

_—
'

L

6107

3184

4085




HONDA

CR-Z (ZF1) -10,2015
OEM Info F/R Type Type F/R Info OEM
51320-TF0-003 =l o) 5189 5189 = lo) 51320-TF0-003

ﬁ!@;
5189 FOVON FOVON 5189
FR-V (BE) -4,2015
OEM Info F/R Type Type F/R Info OEM
51321-S5A-003 |Suspension Rod aim o)) 5182 5181 aim o) Suspension Rod 51320-S5A-003

Outer Thread: M10x1,25mm

Outer Thread: M10x1,25mm

=
5182 5181
INSIGHT (ZE_) -9,2015
OEM OEM

53010-TF0-003

53010-TF0-003

51320-TF0-003 5189 5189 iz o) 51320-TF0-003
5189 i o8 ‘ . 28 ‘ 5189
INTEGRA Coupe (DC2,DC4) 07.1993 - 01.2015
OEM Info F/R Type Type F/R Info OEM
51320-ST7-003 |Suspension Rod i) 5179 5179 @@= | Suspension Rod 51320-ST7-003
53560-504-003 |with right-hand thread il 3185 3184 @@im | with right-handthread 53540-S04-003
el ] ]
- P
5179 5179
3185 QM '\=¢§ 3184
Q| | @

JAZZ 11 (GD) 03.2002 - 08.2015
OEM Info F/R Type Type F/R Info OEM
51321-SEL-TOL = o) 5190 5191 =l o) 51320-SEL-TO1
53560-SAA-003 | Outer Thread: M10x1,25 mm aim o)) @@z’ .| Outer Thread: M10x1,25 mm 53540-SAA-003

Inner Thread: M12x1,25 mm 3190 3189 Inner Thread: M12x1,25 mm

Length: 180 mm

Length: 180 mm

=
5190

3190

@2

3189




HONDA

JAZZ Il (GE) -8,2015
Info OEM

OEM Info F/R Type Type F/R
53010-TF0-003 el o)) 6105 6105 el o)) 53010-TF0-003
51320-TF0-003 el o)) 5189 5189 el Vo)) 51320-TF0-003

5189 w, W‘

01.1986 - 03.1991

LEGEND I (HS, KA, KA3)

OEM Info F/R Type Type F/R Info OEM
53560-5D4-003 |with right-hand thread =l o) @@= | with right-hand thread 53540-5D4-003
. 3192 3191 .
Thread Size:M12x1,25 Thread Size:M12x1,5
@@;
3192 3191

01.1991 - 03.1996
Type F/R Info OEM
@@z’ .| Control Arm 52390-SP0-013
Steel

LEGEND Il (KA7, KAS8)

OEM

52400-SP0-013 |Control Arm
Steel

1339 1570

06.1994 - 04.2015

SHUTTLE (RA)
7% >
1339 1570
SHUTTLE (RA) 06.1994 - 04.2015
OEM Info Type Type F/R Info OEM
53560-S1A-EO01 ;rnhr:'eai:lze;ll\ﬂl\;(izl,fi 1181 2180 ﬂ@v‘ Thread Size: M10x1,25 53540-S1A-E01
er . reac: XLomm Inner Thread: M14x1,5mm
Cone Size: 14 mm
51220-584-A01 ) 4084 4084 E=te 51220-584-A01
=
3181 3180
@ )
a08a % 5 4084
STREAM (RN) -1,2015
OEM Info F/R Type Type F/R Info OEM
51321-55A-003 | Suspension Rod iz o) @@ia .| Suspension Rod 51320-S5A-003
5182 5181
Outer Thread: M10x1,25mm Outer Thread: M10x1,25mm

@@;
5182 5181

ele]



HYUNDAI

ACCENT I (X-3)

10.1994 - 01.2000

OEM Info F/R Type Type F/R Info OEM
57730-43000 aim o)) 6109 6109 aim o)) 57730-43000
54830-17010 |SuspensionRod ez o) 5192 5193 @@=’ .| Suspension Rod 54830-17020
56820-22000 |with right-hand thread =i @@= .| with right-hand thread 56820-22000

Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm
Length: 73 mm Length: 73 mm
54503-22000 el o) 4087 4087 el o) 54503-22000
55830-25000 B = 5194 5194 B 55830-25000
54500-22000 B 1341 1571 B 54501-22000
‘!@; '
6109 - 6109
e ©
5192 5193
3193 3193
4087 ‘ 4087
o
5194 5194
1341 1571
ACCENT II (LC) -5,2015

OEM Info F/R Type Type F/R Info OEM
56540-25000 o=t 6318 6318 =i 56540-25000
54830-17010 |SuspensionRod aimie) 5192 5193 aim ) Suspension Rod 54830-17020
56820-22000 |with right-hand thread agin Vo) @@ | with right-hand thread 56820-22000

Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm

Length: 73 mm Length: 73 mm
54503-22000 4087 4087 = i) 54503-22000
54500-25000 1572 1573 = i) 54501-25000
55830-25000 5194 5194 B 2 55830-25000

=

5192

5193




HYUNDAI

ACCENT Il (LC) -5,2015

4087

1572

(O
o
5194 F‘ 5194
‘,(.:..' &l (“

ACCENT Il (MC) 11.2005 - 10.2015
OEM Info Info OEM
54830-2C000 izl o) etz Vo) 54840-2C000
54830-1G000 etV 5197 5198 e Vo) 54840-1G000

@@;
5195 .y

| ATOS / ATOS PRIME (MX)

-2,1998

' e 5196
QL

5197 oL 5198
ATOS / ATOS PRIME (MX) -2,1998
OEM Info F/R Type Type F/R Info OEM
57755-02000 =l o) 6111 6111 o=l 57755-02000
56540-02000 |Length: 247 mm i) 6112 6112 @@ia | Length: 247 mm 56540-02000
56820-02500 |Outer Thread: M12x1,25mm =) 3104 3104 @@Lz’ .| Outer Thread: M12x1,25mm 56820-02500
Inner Thread: M12x1,25mm Inner Thread: M12x1,25mm
54530-02000 etz Vo) 4233 4233 = 54530-02000
6111 o o 6111
6112 o o 6112

COUPE (GK)

4233

3194 “ L 3194
D ®

%
@



HYUNDAI

COUPE (GK) 08.2001 - 09.2015
OEM Info F/R Type Type F/R Info OEM
57724-2D000 aimie) 6319 6319 aimie) 57724-2D000
54830-2C000 agin Vo) 5195 5196 agin Vo) 54840-2C000
56820-22000 |with right-hand thread el Vo) @@ | with right-hand thread 56820-22000

Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm

Length: 73 mm Length: 73 mm
54503-22000 aim o)) 4087 4087 aim o)) 54503-22000
55530-17000 |Suspension Rod B 7 5199 5199 & | suspension Rod 55530-17000

agm o —E@' —w
6319 : : 6319
5195 , } 5196
(o @) Q@
3193 “ 3193
()
4087 6 4087
) ‘f
5199 - 5199
&<
COUPE (RD) 06.1996 - 02.2015
OEM Info F/R Type Type F/R Info OEM
57730-29000 etz Vo) 6114 6114 etz Vo) 57730-29000
57724-2D000 o=l 6319 6319 =l o 57724-2D000
54830-29000 |Suspension Rod =) 5200 5200 @@= | Suspension Rod 54830-29000
56820-22000 |with right-hand thread =l @@l | with right-hand thread 56820-22000
Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm
Length: 73 mm Length: 73 mm
54503-22000 agia o) 4087 4087 el o) 54503-22000
54500-29000 |Control Arm e o) @@ia " .| Control Arm 54501-29000
1345 1346
Sheet Steel Sheet Steel
55530-17000 |Suspension Rod B 2 5199 5199 & 3| suspension Rod 55530-17000

6319

5200

3193

4087

IH

(

r

.-

6114

6319

5200

3193

4087




HYUNDAI

1345 1346
5199 - 5199
22 Y
ELANTRA (XD) -6,2015
OEM Info F/R Info OEM

57724-2D000 6319 6319 el o) 57724-2D000
56540-2H000 |Outer Thread 1: M16x1,5 getriebes. |@@amt o @@L | Outer Thread 1: M16x1,5 getriebes. | 56540-2H000

mm mm

Outer Thread: M14x1,5mm 6115 6115 Outer Thread: M14x1,5mm

Length: 161,7 mm Length: 161,7 mm
54830-2D000 |Suspension Rod P 5201 5201 @@= .| Suspension Rod 54830-2D000
54830-2H000 P e 5202 5202 aimie) 54830-2H000
56820-2H000 |Outer Thread: M10x1,25mm iz o @@Lz’ .| Outer Thread: M10x1,25mm 56820-2H090

Inner Thread: M14x1,5 mm 3196 3195 Inner Thread: M14x1,5 mm

Length: 229,6 mm Length: 229,6 mm
56820-22000 |with right-hand thread etV @@z | with right-hand thread 56820-22000

Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm

Length: 73 mm Length: 73 mm
54503-22000 agia o) 4087 4087 el o) 54503-22000
51760-2G000 agia o) 4089 4089 el o) 51760-2G000
55530-17000 |SuspensionRod B 5 5199 5199 & B suspension Rod 55530-17000
55530-1H000 B = 5203 5203 B = 55530-1H000
55530-38000 |Suspension Rod I o3& suspension Rod 55530-38000

Outer Thread: M10x1,25mm 5204 5204 Outer Thread: M10x1,25mm

Length: 180 mm Length: 180 mm

&l@,
6319

6115

5201

5202

3196

3193

4087

4089

IIIIIllIIlll,ﬂﬂlElllllllllﬁﬂgiE. IIIIIllIIIII,HEEEIIIIIIII.E%;HE.

6319

6115

5201

5202

3195

3193

4087

4089




HYUNDAI

| ELANTRA (XD) -6,2015
5199 é g é—_? 5199
9 LY
5203 5203
@), B @), B
ML Ml
5204 5204
GETZ(TB) 08.2002 - 09.2015
OEM Info F/R Type Type F/R Info OEM
57755-1C000 el o)) 6116 6116 e Vo)) 57755-1C000
54830-1C000 |SuspensionRod iz o) 5205 5206 @@ii .| Suspension Rod 54840-1C000
56820-22000 |with right-hand thread e V)| @@ | with right-hand thread 56820-22000
Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm
Length: 73 mm Length: 73 mm
54503-22000 aim o)) 4087 4087 i o)) 54503-22000
54500-1C000 aim o)) 1574 1575 i o)) 54501-1C000

=

6116

5205

3193

4087

1574

81
Yoe

6116

5206

3193

4087

1575




GRANDEUR (TG)
OEM Info

HYUNDAI

54830-3K000

Type

Info

OEM

56820-3K000 [Outer Thread: M12x1,25mm

Inner Thread: M16x1,5 mm
Length: 218 mm

54830-3K000

54430-3F600

Outer Thread: M12x1,25mm
Inner Thread: M16x1,5 mm
Length: 218 mm

56820-3K010

55530-3K000

54430-3F600

il fbe

55530-3K000

5207 5207
(o7

3524 3197

®

4090 ‘ = ‘ _ 4090

e i e
I

5208 5208

PP (&)

H-1 /STAREX / H-1 (KMF)
OEM Info

56820-47300 |Inner Thread: M14x1,5mm

Length: 69 mm

Type

Info

OEM

54530-4A000

»|Inner Thread: M14x1,5mm

Length: 69 mm

56820-47300

54417-43A00

54530-4A000

H-1 Bo
OEM

3199 &
@.
=]
4092 6

x / H-1 Travel (P)

Info

54417-43A00

56820-47300 |Inner Thread: M14x1,5mm

Length: 69 mm

8T

Info

10.1997 - 07.2015

3199

4091

4092

OEM

54417-43A00

>|Inner Thread: M14x1,5 mm
Length: 69 mm

56820-47300

54530-4A000

54417-43A00

3199 L

@

=7

4092 6

54530-4A000

3199

4092




HYUNDAI

) 07.1993 - 04.2015
4091 0 0 4091
H100 Box / H100 Bus (P) 07.1993 - 04.2015
OEM Info F/R Type Type F/R Info OEM
57730-43000 a@iz )| 6109 6109 a@iz )| 57730-43000
56820-47300 |Inner Thread: M14x1,5mm =l )| 3199 3199 @@= | Inner Thread: M14x1,5mm 56820-47300
Length: 69 mm Length: 69 mm
54417-43A00 el o)) 4092 4092 el o)) 54417-43A00
== —— | = e —
6109 - 6109

2R o -

3199 L 3199

[ @

=7

®
4092 ‘ 4092

OEM Info F/R Type Type F/R Info OEM
54530-07000 =l )| 4093 4093 i) 54530-07000

i20 (PB, PBT)

o 2

o

4093 4093
i20 (PB, PBT) -8,2015
OEM Info F/R Type Type F/R Info OEM
56820-2K000 ezl 3200 3201 aoiz )| 56820-2K050
54503-22000 ezl 4087 4087 aoiz )| 54503-22000
dl@;
3200 3201
4087 6 é 4087



HYUNDAI

i30 (FD) 10.2007 - 11.2015
OEM Info F/R Type Type F/R Info OEM
56540-2H000 |Outer Thread 1: M16x1,5 getriebes. |@@imt .| @@ia " .| Outer Thread 1: M16x1,5 getriebes. | 56540-2H000

mm 6115 6115 mm
Outer Thread: M14x1,5mm Outer Thread: M14x1,5mm
Length: 161,7 mm Length: 161,7 mm
54830-2H000 P e 5202 5202 izl o) 54830-2H000
56820-2H000 |Outer Thread: M10x1,25mm i) @@= .| Outer Thread: M10x1,25 mm 56820-2H090
Inner Thread: M14x1,5 mm 3196 3195 Inner Thread: M14x1,5 mm
Length: 229,6 mm Length: 229,6 mm
51760-2G000 izl o) 4089 4089 aim o) 51760-2G000
55530-1H000 B = 5203 5203 B 55530-1H000
@@,
6115 6115
5202 r 4 r 4 5202
3196 3195
@ i
4089 4089
%)
7
5203 = P 5203
M M
0 CW (FD 10.2007 - 12.2015
OEM Info F/R Type Type F/R Info OEM
56540-2H000 |Outer Thread 1: M16x1,5 getriebes. |@@imio @@Lz |Outer Thread 1: M16x1,5 getriebes. | 56540-2H000
mm mm
Outer Thread: M14x1,5mm 6115 6115 Outer Thread: M14x1,5mm
Length: 161,7 mm Length: 161,7 mm
54830-2H000 @izl o)) 5202 5202 @izl o) 54830-2H000
56820-2H000 |Outer Thread: M10x1,25mm =l @@iE .| Outer Thread: M10x1,25mm 56820-2H090
Inner Thread: M14x1,5 mm 3196 3195 Inner Thread: M14x1,5 mm
Length: 229,6 mm Length: 229,6 mm
51760-2G000 =i 4089 4089 ezl o) 51760-2G000
55530-1H000 B = 5203 5203 B = 55530-1H000

5202

3196

4089

78

6115

5202

3195

4089




HYUNDAI

-10,2015

ix20 (JC)

5203 P a 5203
M M
ix20 (JC) -10,2015
OEM Info F/R Type Type F/R Info OEM
56540-2K000 el o)) 6117 6117 el o)) 56540-2K000
56820-2K000 il o)| 3200 3201 il o)| 56820-2K050
‘!@;

6117 e . = . 6117

3200 ‘% 3201
ix55 -7,2015
OEM Info F/R Type Type F/R Info OEM
54830-2B000 e Vo)) 5209 5210 el Vo)) 54840-2B000
55530-2B000 77 5211 5211 . 7 55530-2B000
=V o

(i)

10.1990 - 11.1995

6;@—?

10.1990 -11.1995

LANTRA | (J-1)

63;?

LANTRA I (J-1)

OEM Info F/R Type Type F/R Info OEM
56820-28000 |with right-handthread iz o) 2202 2202 @@= " .| with right-hand thread 56820-28000
Inner Thread: M12x1,25mm Inner Thread: M12x1,25mm
56820-22000 |with right-hand thread etV @@in | with right-hand thread 56820-22000
Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm
Length: 73 mm Length: 73 mm

=

3193 3193



HYUNDAI

OEM

LANTRA II (J-2)

Info

Info

06.1995 -10.2000

OEM

57730-29000

57730-29000

54830-29000

Suspension Rod

Suspension Rod

54830-29000

56820-36000

with right-hand thread
Inner Thread: M14x1,5mm
Thread Size:M12x1,25

with right-hand thread
Inner Thread: M14x1,5mm

Thread Size:M12x1,25

56820-36000

54503-22000

54503-22000

54500-29000

Control Arm
Sheet Steel

& Control Arm

Sheet Steel

54501-29000

55530-17000

Suspension Rod

Suspension Rod

55530-17000

6114 —— 2%

5200 “ 5200
ST

3203 L 3203
@u

4087 ‘ 4087

1345 z 1346

)
5199 5199

OEM

MATRIX (FC)

Info

Info

06.2001 - 10.2015

OEM

57716-34000

Thread Measurement 1:M16x1,5
Thread Size 2: M14x1,5
Length: 301,5 mm

Thread Measurement 1:M16x1,5

Thread Size 2: M14x1,5
Length: 301,5 mm

57716-34000

56820-22000

with right-hand thread
Inner Thread: M14x1,5mm
Length: 73 mm

with right-hand thread
Inner Thread: M14x1,5mm

56820-22000

54503-22000

Length: 73 mm

54503-22000

55530-17000

Suspension Rod

Suspension Rod

55530-17000

3193

& ©

B

6118

3193




| MATRIX (FC)

HYUNDAI

06.2001 - 10.2015

4087 6 4087
B N
é é B
5199 - = 5199
¥ ¢
PONY / EXCEL Saloon (X-2) 10.1989 - 01.1995
OEM Info F/R Type Type F/R Info OEM
57730-43000 oz o) 6109 6109 oz )| 57730-43000
56820-21000 |with right-handthread i) 3204 3204 @@= | with right-hand thread 56820-21000
54530-24000 |withaccessories im0 4234 4234 @@is .| withaccessories 54530-24000
@@; ' '
6109 s = 6109
e © e O

3204 3204

4234 i‘e-‘~ —, ‘:e-‘~ =, 4234
S COUPE (SLC) 02.1990 - 05.1996

OEM Info F/R Type Type F/R Info OEM

57730-43000 o= o 6109 6109 P 57730-43000
56820-21000 |with right-handthread Pt 3204 3204 @@= | with right-hand thread 56820-21000
54530-24000 |withaccessories e Vo)) 4234 4234 @@LE " | withaccessories 54530-24000

3204

6109

3204

4234




HYUNDAI

SANTA FE | (SM) -6,2015

OEM Info F/R Type Type F/R Info OEM
- P i P 25 _
57716-34000 Thread Measurement 1:M16x1,5 . . Thread Measurement 1:M16x1,5 57716-34000
Thread Size 2: M14x1,5 6118 6118 Thread Size 2: M14x1,5
Length: 301,5mm Length: 301,5mm
54830-26000 |SuspensionRod aim o) 5213 5212 @@Lz .| Suspension Rod 54840-26000
54830-2B000 ez o) 5209 5210 i) 54840-2B000
56820-2B000 |Outer Thread: M12x1,25mm e @@= .| Outer Thread: M12x1,25mm 56820-2B900
Inner Thread: M16x1,5 mm 3205 3206 Inner Thread: M16x1,5 mm
Length: 228,5 mm Length: 228,5 mm
56820-22000 |with right-hand thread agim Vo) @@z | with right-hand thread 56820-22000
Inner Thread: M14x1,5mm 3193 3193 Inner Thread: M14x1,5mm
Length: 73 mm Length: 73 mm
54503-3BA00 =l 4235 4235 =l 54503-3BA00
55530-26600 o B 5214 5215 B ) 55540-26600
55530-2B000 B 5211 5211 o 55530-2B000
aEr s u m
6118 TR, | Comen | 6118
v o A
5213 é . 5212
5209 6 Q ? ——é 5210
3
LQ LY
3205 3206
@
3193 h 3193
4235 0 4235
e /oY
5214 5215
L
5211 IE @ @ ? 5211




HYUNDAI

SANTA FE 11 (CM) -6,2015

OEM Info F/R Type Type F/R Info OEM
57724-2B000 |Outer Thread: M16x1,5mm gz o) 6039 6039 @@= | Outer Thread: M16x1,5mm 57724-2B000
Length: 167 mm Length: 167 mm
54830-2B000 iz o) 5209 5210 =) 54840-2B000
56820-2B000 |Outer Thread: M12x1,25mm i @@= | Outer Thread: M12x1,25mm 56820-2B900
Inner Thread: M16x1,5 mm 3205 3206 Inner Thread: M16x1,5 mm
Length: 228,5 mm Length: 228,5 mm
54503-3BA00 =l o) 4235 4235 =l 54503-3BA00
55530-2B000 o B 5211 5211 B 55530-2B000
@@;
6039 6039
aEr s
5209 6 Q ? —é 5210
b,
QLQ (L)
3205 3206
4235

SONATA 11 (Y-2) 09.1988 - 10.1993
5211 ’ @ @ ? ’ @ @ ? 5211
SONATA I1 (Y-2) 09.1988 - 10.1993
OEM Info F/R Type Type F/R Info OEM
56820-36000 |with right-hand thread =) @@z " .| with right-hand thread 56820-36000

Inner Thread: M14x1,5mm 3203 3203 Inner Thread: M14x1,5mm
Thread Size:M12x1,25 Thread Size:M12x1,25
54503-22000 agin o) 4087 4087 agin Vo) 54503-22000
55130-34A00 B = 4236 4236 B =) 55130-34A00
3208 L L 3208
4087 é é 4087
@ ‘ ‘
4236 - - 4236
® = ®@



HYUNDAI

SONATA 111 (Y-3)

05.1993 - 08.1998

OEM Info Type F/R Info OEM
57716-34000 Thread Measurement 1:M16x1,5 Thread Measurement 1:M16x1,5 57716-34000
Thread Size 2: M14x1,5 Thread Size 2: M14x1,5
Length: 301,5 mm Length: 301,5 mm
54830-2D000 |Suspension Rod @@’ )| suspension Rod 54830-2D000
56820-36000 |with right-hand thread @@ | with right-hand thread 56820-36000
Inner Thread: M14x1,5mm Inner Thread: M14x1,5mm
Thread Size:M12x1,25 Thread Size:M12x1,25
54503-34A00 =l o) 54503-34A00
55580-37020 |SuspensionRod = Suspension Rod 55580-37020
55130-34A00 = 55130-34A00
M i e e
6118 —E‘ o —E‘ o 6118
5201 X 5201
3203 3203
4097 . . 4097
3 "
5216 é—* é—? 5216
4236 ‘ o ‘ - 4236

SONATA IV (EF)

OEM

Info

F/R

Type

57724-38000

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M14x1,5mm
Length: 150 mm

03.1998 - 05.2015

54830-38100 |Suspension Rod Em )
57780-38000 |Outer Thread: M12x1,25mm =l )|
Inner Thread: M14x1,5 mm
Length: 170 mm
55530-38000 |SuspensionRod B =
Outer Thread: M10x1,25mm
Length: 180 mm
55530-38600 |SuspensionRod N

Outer Thread: M10x1,25mm
Length: 194 mm

Type F/R Info OEM

Outer Thread 1: M16x1,5 getriebes. | 57724-38000
mm
Outer Thread: M14x1,5mm
Length: 150 mm

@@ | Suspension Rod 54830-38100

@@L’ .| Outer Thread: M12x1,25mm 57780-38010
Inner Thread: M14x1,5 mm
Length: 170 mm

& 3B suspension Rod 55530-38000
Outer Thread: M10x1,25mm
Length: 180 mm

& @& suspension Rod 55530-38600

Outer Thread: M10x1,25mm
Length: 194 mm

6119




| SONATA IV (EF)

HYUNDAI

03.1998 - 05.2015

5218 ‘-— ‘_ 5218
R
3208 3207
S
5204 5204
5217 ? i% ? i% 5217
SONATA V (NF) -5,2015
OEM Info F/R Type Type F/R Info OEM
54830-3K000 aim o)) 5207 5207 i o)) 54830-3K000
56820-3K000 |Outer Thread: M12x1,25mm =l @@= | Outer Thread: M12x1,25mm 56820-3K010
Inner Thread: M16x1,5 mm 3524 3197 Inner Thread: M16x1,5 mm
Length: 218 mm Length: 218 mm
54430-3F600 e o)) 4090 4090 el o)) 54430-3F600
55530-3K000 R 7 5208 5208 R 7 55530-3K000
‘l@)
5207 5207
3524
4090 é = ‘ 4090
@ i @ i
I 7
5208 5208
LD (&)
TERRACAN (HP) 06.2001 - 06.2015
OEM Info F/R Type Type F/R Info OEM
54822-H1000 aim o)) 5219 5220 aim o)) 54823-H1000
‘l@;

5219

?-‘ 5220
A2




HYUNDAI

OEM

TRAJET (FO)

Info

57716-34000

Thread Measurement 1:M16x1,5
Thread Size 2: M14x1,5
Length: 301,5 mm

Type

F/R

Info

OEM

54830-3A000

Thread Measurement 1:M16x1,5
Thread Size 2: M14x1,5
Length: 301,5 mm

57716-34000

56820-22000

with right-hand thread
Inner Thread: M14x1,5mm
Length: 73 mm

54840-3A000

54503-3BA00

@@ | with right-hand thread

Inner Thread: M14x1,5mm
Length: 73 mm

56820-22000

) Lo

6118

5221

3193

4235

Info

54503-3BA00

57724-2E000

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M16x1,5mm
Length: 215 mm

Info

6118

5222

3193

4235

08.2004 - 10.2015

OEM

54830-2E000

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M16x1,5mm
Length: 215 mm

57724-2E000

56820-2E000

Outer Thread: M12x1,25mm
Inner Thread: M16x1,5 mm
Length: 170 mm

54830-2E000

51760-2E000

Outer Thread: M12x1,25mm
Inner Thread: M16x1,5 mm
Length: 170 mm

56820-2E900

55530-2E000

51760-2E000

T —
O

6120

5223

3210

4098

55530-2E000

6120

5223

3209

4098



XG (XG)
e 7

5224

OEM

Info

57724-38000

Outer Thread 1: M16x1,5 getriebes.
mm

Outer Thread: M14x1,5mm
Length: 150 mm

HYUNDAI

Info

-12,1998

5224

-12,1998
OEM

54830-38100

Suspension Rod

| Outer Thread 1: M16x1,5 getriebes.

mm
Outer Thread: M14x1,5mm
Length: 150 mm

57724-38000

57780-38000

Outer Thread: M12x1,25mm
Inner Thread: M14x1,5 mm
Length: 170 mm

Suspension Rod

54830-38100

55530-38000

SuspensionRod
Outer Thread: M10x1,25mm
Length: 180 mm

Outer Thread: M12x1,25mm
Inner Thread: M14x1,5 mm
Length: 170 mm

57780-38010

55530-38600

Suspension Rod
Outer Thread: M10x1,25mm
Length: 194 mm

Suspension Rod
Outer Thread: M10x1,25mm
Length: 180 mm

55530-38000

Suspension Rod
Outer Thread: M10x1,25mm
Length: 194 mm

55530-38600

P
6119 " o 6119
&,
o /5
5204 5204
5217 H 5217




